FTHTFE BEXERR REtH
( H314 ~ R23A )
XRS5 3 () Xh&#E (F)
B 2 43,720
ELEVE 3 1 6,000
3 15 182,000
Bt 7 72,000
REL 0 0
Z Ot 3 45,000
& f 28 348,720




THM2%F 3A%S

BRXERE BTRR

5| XHFAH XHES XHE. NEF & &Yo0R | XH&®TE (FD 1]
1 R2.3.13 =8 AR A RFBERSNITFEFERE B& 10,000
2 R2.3.25 B SHbER B EMERFHETR R& 10,000
3
4
5
6
1
8
9

10
a8 & 20,000




TH2%F 2A%

BRXERE BTRR

5| XHFAH XRS5 Xk, AEF B&. @Bl X2 () 1]
1 R2.2.2 =& ERR—HEERREGS B& 10,000
2 R2.2.14 E-3 -1 THTFEFERNMET SR RIFERBBE R& 8,000

10

o £
A A

18,000




TH2E 17 BERXEE HITKR

5| XHFAH XHES XHE. NEF & &Yo0R | XH&®TE (FD
1 R2.1.15 BER HPE A BE (45 ) L) 34,760
2 R2.1.17 =8 NBITREREHES BR& 5,000
3 R2.1.23 =5 NEET X ERsHiFEs (BlER) B& 5,000
4
5
6
1
8
9
10
a8 & 44,760
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BRIEE WITRKE

5| XHFAH XHES XHE. NEF & &Yo0R | XH&®TE (FD 1]
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9
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fHxTE 1M1AS

BRIEE WITRKE

5| XHFAH XHES XHE. NEF & &Yo0R | XH&®TE (FD 1]
1 R1.11.24 B SRTERBEOCFREETHR B& 10,000
2 R1.11.27 BUEE |RELSARRERESMERERXRE £ 6,000
3 R1.11.27 B HTiE R DERXFEHEF R R& 10,000
4
5
6
1
8
9

10
a8 & 26,000




fHxTE 10AS

BRIEE WITRKE

XHEAH

XRS5

Xk, AEF

B&. @Bl

Xihd ()

R1.10.21

=8

ERTHESBRMEINER FER)

B&

10,000
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10,000




THxXE 9AS

BRXERE BTRR

5| XHFAH XRS5 Xk, AEF B&. @Bl X2 () 1]
1 R1.9.1 B TRMITESEROEREFRETH B& 10,000
2 R1.9.6 B BENIETROXRBEELEH L) 12,000
3 R1.9.6 B BiFESERORBHEETH B& 10,000
4 R1.9.15 E HFoamhESERMENESR B& 10,000
5
6
1
8
9

10
& & 42,000




THIxE 8AS BEXERE HTKRR

5| XHFAH XHES XHE. NEF & &Yo0R | XH&®TE (FD
1 R1.8.12 ES MELTERSEBRMEINER BER - BlER) B& 20,000
2 R1.8.24 =8 RIIRBERFEBRAEVNESR BR - BER) BR& 20,000
3 R1.8.31 E-3 -4 ERTHEXEBRMENER BR - BlER) B& 20,000
4
5
6
1
8
9
10
& i 60,000




THxE 1A%

BRXERE BTRR

XHEAH

XRS5

Xk, AEF

B&. @Bl

Xihd ()

R1.7.31

=8

BNROC7HE 20195EEH

B&

15,000

R1.7.31

B

SERERRELENL

L)

8,960
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(=] A
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THRXE 6%

BRXERE BTRR

5| XHFAH XRS5 Xk, AEF B&. @Bl X2 () 1]
1 R1.6.14 =8 BNRBPRFRETNTEERMNSE B& 15,000
2 R1.6.14 Dtk FKRELER)IRGRESFHITER T > PR R& 1,000
3 R1.6.23 E-3 -4 BUTESSEBRMENER B& 10,000
4 R1.6.28 =8 TNTEERNHATH R EXBREE B& 4,000
5 R1.6.28 a2 ! HPEES IR (4 595) LTxY) 34,000
6 R1.6.30 E3 -1 FEAGESERAEINER (BR - FER) B& 20,000
1
8
9

10
& & 84,000




THxXE SAS

BRXERE BTRR

XHEAH

XRS5

Xk, AEF

B&. @Bl

Xihd ()

R1.5.31

Dt

WIRTIFEF AR EEE

B&

10,000
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10,000
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BRXERE BTRR

XHEAH

XRS5

Xk, AEF

B&. @Bl

Xihd ()

H31.4.23

B

ERTHESBRORBHEER

B&

10,000
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